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Second Year, Examination, 2017

Time : 3 Hours Max. Marks : 80

Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these
Sections according to the detailed instructions given
therein.

A ;I8 U U9 T (80) 3%l @1 ® Wl 9 (03) Wl
‘@, @ T T H fowia 1 R @ g
guel # QU 7Y fawgd Ml & offaR & el &
SR & © |

Section—-A / Gls—d
(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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e @ ‘P W AR (04) <Y S WA e T
TAG Y b oy SN (19) e fwiRa B
Rrenlial oF 39 | ®ad <1 (02) T @ SR <A
Z|

1. How is ‘Labour’ defined in Economics ? Mention the

peculiarities of labour.

e H ‘o W dEd § ? s @ fafe
faRryarett o1 Sarsy |

2. Differentiate between Minimum wage and Fair wage.
Critically examine the Minimum Wages Act, 1948.

AT AoTgyl U4 ST Aug H SRR WK $iff |
REATH Aoy MR, 1948 @ e HIfTY |

3. Discuss the constitution, organization and functions of
International Labour Organization.

NIRRT 5/ Wed & Wfdu™, | o drf @l
AT HINTY |
4. What do you mean by Social Security ? What kind of

social security measures have been taken in India ?
Critically explain.

QAT YR | ST T WEgd & 2 4R § WD

RN B fold U T ST B AT BT |
Section-B / YVs—g

(Short Answer Type Questions) / (g STRIF U%H)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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. gue ‘@ # 36 (08) oY IAN WA ¥ W F|
A% YN @ forv e (08) s fwiRa €l
IRl a1 371 ¥ dadt 9R (04) WAl & IR o
gl

Discuss the problems of agricultural labour in India.

RA H B el & TR FT v By |

Explain the situation of social security schemes for
Industrial labourers.

e el & foy ARG GRem AR &
ST BT ool DI |

Discuss briefly the types of unemployment existing in
India.

WRA H AlSET RGN & YSRI &I AT DI |
What are the objectives and scope of the Labour
Legislation ?

S AT B I qAT &5 7T ?

What are the major characteristics of the Indian Labour
Market ?

AT 3/ 9RI & g faemar & g °

Write a note on the origin and development of trade
union movement in India.

IR ¥ M el & A<l & Sgd 3R fda W

U o foRay |
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What is migration ? What are the main causes of
migration ?

YT R S ? YA & G BRY R G 7

Discuss the nature of labour problems in developing
economies like India.

IRA ol faeraefia sefaaven d§ o9 Twmel @
e @ fademr S|

Section-C / GUvs—1T
(Objective Type Questions) / (@S T)

Note : Section ‘C’ contains ten (10) objective type

qre :

1.

B-57

questions of one (01) mark each. All the questions
of this Section are compulsory.

gus T ¥ g9 (10) TRS WA [ W 2| IS
T o forv ve (01) o FeiRd B 39 @ @
T g e €|

Which type of unemployment arises due to lack of
information about the available employment ?

(@ Cyclical Unemployment

(b) Frictional Unemployment

(c) Disguised Unemployment

(d) Technological Unemployment

SUAL IR P SRR & T ¥ g JoR @l

RIS I~ 2lall & ?

(1) TP RITIRI
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‘Aam Admi Bima Yojana’ provides social security to :
(@ All labourers of rural areas

(b) All landless labourers living below poverty line in
rural areas

(c) All labourers living below poverty line in urban
area

(d) All labourers in both rural as well as urban area
from below poverty line in rural areas

‘o aredl 4 Ao fhde! |rEIfoie RE UeT

PRl g 7

(@) T gaTdl & W sl @l

(@) ITIT e H e aret 39 W AEE sl
ST TR T | A g

(@) wEd ed & ST A AR B S I T |9
SIER

(8) wHIor 3R W &F & Wl sl Bl G W
@l ¥ A g

“We may define labour as an exertion of mind or body
undergone partly or wholly with a view to some good
other than the pleasure derived directly from work.”
The definition of is given by :

(@ Thomas

(b) Akilkar

(c) Marshall

(d) Adam Smith

P.T.O.
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“sT W BERT AU AR A1 IRR @ foddl A T
YO W Sl Ui 7 e B W e WY H U
B d A< @ W R o @t 3fe § fen
TR |7 S @ T8 qRATT R

(&) of A

(@) srpletax

(@) wrefe =

(8) vew Rey A

How many days of labour round a year is a criterion
for full employment ?

(@) 280 Days (b) 250 Days

(c) 273 Days (d) 300 Days

ol ISR & foly U @y ¥ foba oAl & @l @
AME AT TR P

(31) 280 fed @ 250 fom

@) 273 fed (@) 300 &=

Workmen’s Compensation Act was passed in which
year ?

(a) 1923 (b) 1926
(c) 1948 (d) 1947
SR afagfd st fog v aia fam a2
(31) 1923 (@ 1926

(|) 1948 (@) 1947
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Which two schemes were merged in ‘Jawahar Rojgar
Yojana’ ?
(&) RLEGP and NREP
(b) IRDP and RLEGP
(c) PMRY and NREP
(d) PMRY and RLEGP
fbeT T ATl $T fdo ‘Same” AR ol o

faar T o ?

(@) oR. Td. 8. off. 0 &R vH. R 8. .
(@ oms. AR S 0. 3R 3R, Tal. g o W,
(@) 1 T R, 918, &R UH. 9K, §. W,

(8) W U IR 918, &R 3R, Tl . o, Ul

In which year the Minimum Wages Act was enacted in
India ?

(a) 1958 (b) 1946

(c) 1948 (d) 1950

YRA W fow 99 <gAqH woigd AfRFEE dnp e
T ?

(31) 1958 (@) 1946

(|) 1948 (@) 1950

Which of the following is the largest trade union
organization in India ?

(@ INTUC (b) BMS
(c) HMS (d) None of these

P.T.O.
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IRa # fy=foriReg & 9 @9-91 99 GTeA
GEREC I
@) 3@ (@ 9w
(@) Td. T, @ T 9 Brg T8

9. Rural Landless Employment Guarantee Programme
(RLEGP) started on :
(@ 01 August, 1983 (b) 03 August, 1983
(c) 05 August, 1983 (d) 07 August, 1983
THIT Hﬁ?ﬂ RIGHR TRUET IS NS CARIEE
(31) 01 3FTRd, 1983 @ (d) 03 TR, 1983 I
(|) 05 3FT, 1983 B (T) 07 TR, 1983 @I

10. In which city International Labour Organization head-
quarters is situated ?

(@ Geneva (b) Rome

(c) Washington (d) Bern

IR 3 A6 & dRed fdd TR # Red
g 7?

(1) oiFar @ < H

() aifrmes | @ o
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